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Quiz 41 search 

1a)  1  b)  2  c)  Pass  

2a)  2  b)  2  c)  3 (game try) 

3a)  1  b) 2  c)  Pass 

4a) 2  b) 4  c) 2 

5a) Pass  b) 3NT 

6a) 2NT  b) 3NT 

Quiz 42 
1) 3NT  2) 2  3) Pass  4) 2NT  5) 2  6) 3 
7) 4  8) Pass  9) Pass  10) 4 

Quiz 43 
1) 4 (cuebid agreeing clubs) 2) 4  3) 4  4) 4  5) 5  6) Pass 

Quiz 44 
1) 4 (no Blackwood wit a small doubleton)  2) 3 (set the trump suit first) 3) 4 (not enough for slam) 
4)  West East 

2 2 

2 3 

4NT 5 

6 Pass 

Quiz 45 
1a) Run J, then 10 b) K, then AQ, concede fourth round if necessary.  c) Cash A, overtake Q 
   d) Cash AKQ unblocking 1098 from hand 

2  AK, AKQ, Q, A, J 

3  If South has K he can lead a heart through your remaining J2. 

    If you hold up and North plays another heart you have 2 heart tricks, if he plays anything else you retain your stopper  

4 Duck. If partner produces a second diamond win the second time. If he shows out on the second round duck again. 

Quiz 46 
1a) 6  b) 2   c) 8  d) 4  e) 6  f J  
2     West has 7-9HCP. South has K – he would play Q from dummy at trick 1 if he did not have K 

Partner has 2 diamonds, declarer 3. 

Declarer has 2 spades, 4 diamonds, at least 3 clubs. 

You need 5 tricks to beat 3NT. You need 4 of them from hearts. Try 10 in case partner has AQJx 

South has  J964 

   K42 

   Q63 

   AK4 

Quiz 47 

1a) 2  b) 3  c) 3NT  d) 2 

2a) 3  b) 3  c) 3  d) Pass 

3a) 3NT  b) Pass  c) 4 (cue) d) 3 (advance cue) 

Quiz 48 
1a) Double b) 1  c) Pass  d) Double  
  e) 1  f) Double  g) Double h) Pass 

2a) Double b) 1NT  c) 3  d) Pass 

3a) 2  b) 1NT  c) 2  d) Pass 

Quiz 49 
a) 1) A, 3.  2) K 4 3) 2, 2 4) A, 7 5)   6, 8 6)  3, 6 
    7)  7, 9 8) 4, 10 9) 8, J    10)5, Q 11) 10, K 12) J, A 13) Q .Q 

b) 1) A. 2 2) 3. A 3) 3.A 4)  K. 7 5)  6. .A  6)  7. 2  7) .3. 9   

     8) 8. 7 9) .5. 10 10)9. 8 11) 6. J 12) J, Q 13)  9 K  

 

Quiz 50  
1a)  Pass  b)  3NT  c)  Pass  d)  3NT 
2a)  West  East  West East 

      1NT  4NT  1NT 4NT 

       5  5  5 5 

       5  6  5 5NT 

       Pass    6NT 

3a) quant. b) quant.  c) RKCB  d)  RKCB 


